B BANE (FR24%E1155) ORMERISONT
E210-9

LR A
FR24F11A1H
BITE Hh = 4 Q) 27N Kz AR (W Sv/n)
1.0m 0.5m
EELREET (PR) * i 0.14 0.15
L REE2 (ER) * i 0.12 0.12
EEILRBEEIALHR) * i 0.13 0.11
EELREE4 (L) * i 0.13 0.13
EELREES (Fr) * i 0.15 0.15
) 0.13 0.13
BE 2P 4R
FR24F11A1H
B 8% EOHK cp [ S
1.0m 0.5m
BEFRFAR T (PR) t i 0.11 0.13
BERFR2 (AAR) T i 0.15 0.17
BEP I3 (L) t i 0.14 0.12
BER %4 (L) T i 0.14 0.16
BE P25 (R ) t i 0.16 0.15
i ) 0.14 0.15
OOABRELE
ER24F 11818
A RE HhE D ALK K& AR Sv/h)
1.0m 0.5m
LOHERELE (RAR) T i 0.09 0.10
LOABRRELE2(ALHE) B2 i 0.14 0.17
LOABRENEI L) w i 0.13 0.13
LOHERELEAS(ALH) T it 0.12 0.17
LOABRENES () T i 0.12 0.13
1y ) 0.12 0.14




[ BrT gt X ]

KXEXERBE
ER245%11A82H
. FBITEE(u Sv/h)
BITE Hh = A Hh D fE AR PN 3
1.0m 0.5m
KXAEREE1(AR) + i 0.08 0.08
KXAEREE2(JLER) + i 0.08 0.08
KXABEREREI(JLHE) + i 0.10 0.08
KXABERERS (AH) + i 0.10 0.10
KAERERES (FHR) + i 0.09 0.10
iy 0.09 0.09
KR /PDER
ER24FE11 A28
. HBIE{E(u Sv/h)
BITEH = A HhE DRz IK P 3
1.0m 0.5m
KARmE/NER (F k) + i 0.13 0.13
KARm/NER2 (L) + i 0.07 0.09
KAmE/NERS (FA) + i 0.14 0.16
KARmE/NER4 (FER) + i 0.14 0.15
KAR/NERS (ILER) + i 0.12 0.11
DLy 0.12 0.13
LAEOLE
ER245%11A2H
. HBIE{E(u Sv/h)
B 7E Hh = £ HhE D RZIK PN 3
1.0m 0.5m
BAEFDOLAE (k) BHARBHIEHE i 0.16 0.18
LAEFDOLAE2 (F) B AR B Re L i 0.14 0.14
LN A AOUNERIGEED) B2 i 0.16 0.17
LAEFDOLAE4S (4L) BHARBHIEHE i 0.17 0.18
HAEFDOLAES (ALFE) B AR B Re L i 0.18 0.18
Y 0.16 0.17




[ KFNEMHX)

HYDERREE
Frk24511A7H
B 4 BEOTHK X | Sv/h)
1.0m 0.5m
wYDEEEREE () * i 0.14 0.14
WYDEEREE2 (FEAR) * i 0.13 0.12
WYDEERBEEI(F) * i 0.11 0.10
wYDEEREES(JLHE) * i 0.10 0.13
WYDEEREES (FR) * i 0.11 0.13
1y 0.12 0.12
B E /PR
k245118138
B A2 BEOHAR x| Sv/)
1.0m 0.5m
FHE/NERT(FR) * i 0.13 0.12
FHE/NFER2(LE) * i 0.11 0.11
FHE/NER3 () * i 0.13 0.13
HHE/NERA(ER) T H 0.15 0.15
& HFE/NERS (LR) T H 0.13 0.12
1 0.13 0.13
7% i N
FRk245118138
BI04 WEOTHK x| S
1.0m 0.5m
ER AR N B 1 (R R) * | 0.16 0.15
ERiEERE A2 (dE) TRAI7ILE | 0.12 0.12
BRI R A3 (F) avy—k | 0.13 0.14
ERiEERE A R4 (F) TRAI7ILE | 0.13 0.15
BRI R AR5 (3R) TRAI7ILE | 0.14 0.14
i 0.14 0.14




INTFHRTEFR

TR24%11A7H

I 5 HEDOTAK x| SW/

1.0m 0.5m

INFHH&ERT () FRAI7ILE & 0.08 0.08
INFHRT&A2E) L] & 0.09 0.09
INTFRTEA3(FAE) FAI7ILE & 0.07 0.05
INTFRTEF4(FAR) FAI7ILE & 0.14 0.13
INFHRTEAS (FR) L] & 0.14 0.15
19 0.10 0.10




[Si2- A EHX]

BHEEFICHDODHABTE
ER24%11H5H
. BIEME(W Sv/h)
BIEH S A Hh 8 D 24K PN 3
1.0m 0.5m
BHAEFCADHEETR (FR) b - 0.13 0.13
BEHAEFCAHADHEER2 (FF) iy = 0.12 0.12
BHAEFCAHDHEETRSI (ALFE) i3 ) 0.11 0.11
BEHAEFCADHREERS (BR) i3 = 0.12 0.14
BHAEFCAHADHEETERS (ALER) b - 0.12 0.13
Y 0.12 0.13
REERER
ER24%1185H
BIEMEW Sv/h)
BITEH = A HhE D A2 PN 3
1.0m 0.5m
REiEdER (hg) + £ 0.11 0.11
REEfER2(A) T £ 0.14 0.16
REERERS (M) + £ 0.13 0.13
BEEER4 (R) + £ 0.15 0.12
REERERS (L) + £ 0.14 0.15
DLy 0.13 0.13
BREDAE
ER24FE11 A58
) BIEEQ Sv/h)
BIEH = A HhE D A2 AR PN 3
1.0m 0.5m
EEEFHAET (hR) + = 0.12 0.12
EiEE/NE2(dkTE) H.Zih = 0.15 0.17
EEEHAESI L) B2 = 0.13 0.15
EiEENE4 (FER) H.Zih = 0.15 0.15
SEEFNES (F) + = 0.12 0.12
Eiy 0.13 0.14




[+ E#1[X]

FEILREE
Fri24511A13H
B A% WE DA cg | S/
1.0m 0.5m
HERFRBEE (FR) * £ 0.12 0.12
# EILREE2 (dLF) avyy—k = 0.10 0.10
HEIRFREESI (A * £ 0.10 0.09
#HEAREE4S (FER) t : 0.09 0.08
M ERFEBEES (GLE) * £ 0.10 0.11
1y 0.10 0.10
F AL/ AR
FRi24511814H
B A% WEDHHK e Ml
1.0m 0.5m
F EAL/NFRT (FRR) T i 0.10 0.09
# Ed/hER2 (FE) t i 0.10 0.08
F EdL/NFAR3 (JLE) T i 0.13 0.13
# Ed/hFER4 (GEER) t i 0.14 0.13
# EdL/NFAR5 (FER) T i 0.11 0.10
15 0.12 0.11
RPN
FRk244%11813H
A RE HhE D ALK K& R Se/)
1.0m 0.5m
HMEPRAET (AR T £ 0.14 0.17
HMEPRAE2(FAFE) BE-Zih £ 0.15 0.14
HEPRAEI(FR) avyy—k £ 0.15 0.14
HEPRAES (L) -2 £ 0.12 0.13
HEPRAES (FLFR) BE-Zih & 0.14 0.14
Ty 0.14 0.14




[\ FHEHEX]
KABEOEARHREE

ER24%11H8H
. BIFEE( Sv/h)
BIEH = A HhE D A2 AR Kz
1.0m 0.5m
RARABEEOEALGAHRERT (FR) + i 0.13 0.15
HREPOHEALGAHRBE2 (FFA) + i 0.11 0.13
RARABEEOEALAHRERESI (ALFH) + i 0.12 0.13
HREPOHEALGAHRBES (ALE) + i 0.12 0.13
RRABEEOEALAHRERES (FR) + i 0.13 0.13
EH 0.12 0.13
INTFRAPER
ERk24%11H8H
. BIFEEQW Sv/h)
I TE Hh A Hh D R AR fix
1.0m 0.5m
INTFRPER (FR) + iE 0.13 0.12
I\NTFHRPER2 (L) + iE 0.11 0.12
INTFRPERI(FE) + iE 0.19 0.20
INTFRPER4L(FER) + iE 0.10 0.10
INTFRPERS (ILER) + iE 0.13 0.15
EH 0.13 0.14
INTFREERAE
ER24%11H8H
. JAIE{E( Sv/h)
BIEH = A HhE D LK Kz
1.0m 0.5m
INTFREEBEARE(FR) B2 i 0.12 0.11
INTFREEBEAREGLER) B2 i 0.13 0.11
INTFREEBEAR L) B2 i 0.11 0.11
INTFREEBEAE(F) B2 i 0.12 0.11
INTFREEBEAEFER) B2 i 0.14 0.13
Y 0.12 0.1




[BsEAHhX]
BEAR/NER (LA IESHHE) *

Tri24511A9A
AR HhE D AR PR3 AERY So/)
1.0m 0.5m
HEAEm/NERGEE) * i 0.11 0.10
fHEEm/NEREE) * i 0.12 0.12
fHEEm/NERE) * i 0.10 0.13
BHER/NERER) * i 0.11 0.12
BHEAER/NER(FR) * i 0.11 0.12
15 0.11 0.12

* LAIEO RN FR24EIAEL>THELICENS BBtICHIBHEER/NER TRIELEL =,

B EE 4 ch
ER24%F11A9H

. HBIE{E(u Sv/h)

3B E Hh 5 4 HhE D RIK Kz
1.0m 0.5m
BEE PR (FR) + & 0.09 0.10
HEAE P2 (L Fm) + & 0.14 0.14
fHEE PR3 (Ffh) + & 0.08 0.07
BHEEPFER4(FER) + & 0.13 0.13
HEAEPERS(LE) + & 0.11 0.12
£ 0.11 0.11

AR IF A
ER245%1189H

. HBIEE(U Sv/h)

HBITE Hh = A Hh D fE AR PN 3
1.0m 0.5m
BXRELE (hh) B2 i 0.13 0.15
RRIZFAE2(F) B2 i 0.14 0.13
RRIZFAESI(F) B2 i 0.13 0.16
RRIZFAE4S (L) B2 i 0.18 0.17
RRIEZFAES (E) B2 i 0.13 0.12
£ 0.14 0.15




